CALRE S 231 1 ERCERS-

PART 1: LONG DIALOGUE

(a) watched a movie
(b) went to KTV
(c) met a woman
(d) played sports

(a) tall, thin with longer hair

(b) tall, thin and handsome

(c) tall, fat and attractive

(d) he didn’t know what to expect

(a) tall, thin with long hair
(b) tall, thin and handsome
(c) tall, fat with short hair
(d) very attractive

(a) action
(b) classical
(c) disco

(d) heavy metal

(a) action
(b) classical
(c) disco

(d) heavy metal

(a) reading books, watching TV and shopping

(b) watching TV, outdoor activities and going to KTV
(c) reading books, watching TV and going to KTV
(d) playing sports, reading books and shopping

(a) quiet and shy
(b) impatient and nervous
(c) outgoing and adventurous



10.

(d) serious and studious

(a) She’ll make a great girlfriend for him.
(b) They’re a good match.

(c) They have many things in common.
(d) They shouldn’t data each other.

(a) They’re a good match.
(b) They will meet again.
(c) They’re too different.
(d) They’d get married.

(a) because he has many things in common with Wendy
(b) because he lied about the girl’s apprarance

(c) the man is angry at John for making a bad date

(d) the woman wants to have a date with John

PART 2: SHORT STORY

I1.

12.

13.

14.

15.

SHORT STORY 1

(a) 4 days

(b) 5 days

(c) one week

(d) it doesn’t say

(a) go shopping
(b) watch TV

(c) play volleyball
(d) see some fish

(a) he was sick

(b) his motorcycle broke
(c) the water was too cold
(d) it was raining

(a) swimming and watching TV

(b) swimming and playing volleyball

(c) fishing and relaxing on the beach

(d) watching TV and relaxing on the beach

(a) relaxing on the beach was boring
(b) it was raining

(c) his motorcycle was broken

(d) he was too tired to go hiking



STORY 2

16.

17.

18.

19.

19.

20.

21.

22.

23.

(a) there was a traffic jam
(b) the boat had a problem
(c) it was raining

(d) she missed her plane

(a) she was visiting a friend

(b) she wanted to experience local customs
(c) the hotels were full

(d) she had no money

(a) bus and boar
(b) train and bus
(c) plane and train
(d) plane and boat

(a) at the clerk’s house
(b) at the hotel

(c) at home

(d) plane and boat

(a) at the clerk’s house
(b) at the hotel

(c) at home

(d) on a boat

(a) the hotel clerk’s family

(b) the inconvenient and unreliable transportation
(c) the money she made on her sales calls

(d) the poor quality of service at the hotel

(a) I’ll be near Taipei this summer, but I’ll study in America after that.

(b) I won’t be in Taipei this summer because I’m going to study in America.
(c) In the summer, it’s easier to get around in America than in Taipei.

(d) I'm going to study in Taipei before I go to America.

(a) Brian’s problem is that he doesn’t pay attention.

(b) Brian’s problem is that he isn’t very smart.

(c) Brian’s problem is that he can’t hear what people say.
(d) Brian’s problem is that he hasn’t got many friends.

(a) Shphia tried to catch the train but failed.
(b) Sophia just missed the train.



(c) Sophia just missed the train
(d) Sophia caught the train with time to spare.
(e) Sophia almost missed the train.
24,
(a) I think she is his girlfriend.
(b) I don’t think she is his girlfriend.
(c) I know she is his girlfriend.
(d) I know she isn’t his girlfriend.
25.
(a) It’s boring here at the office; let’s go to the beach and have fun.
(b) It seems strang that we’re not at the office today.
(c) Because it’s a Monday, there won’t be anyone else at the beach.
(d) I always enjoy going to the beach on Mondays.
26.
(a) I feel like doing something.
(b) I feel upset.
(c) I don’t feel like doing anything.
(d) I don’t feel upset.
27.
(a) The man’s family ate after he got home.
(b) The man ate before his family did.
(c) The man’s family ate before he got home.
(d) The man ate dinner with his family.
28.
(a) You were late five times last month.
(b) The last time you were late was four months ago.
(c) I ecpect you will be late next month.
(d) If you are late again this month, you will be fired.
29.
(a) I live here because I like rainy days.
(b) I live here because I don’t like rainy day.
(c) I don’t live here because I like rainy days.
(d) I don’t live here because I don’t like rainy days.
30.
(a) It’s impossible for me to go shopping today.
(b) I might have the time to go shopping today.
(c) There’s a very good chance I will go shopping today.
(d) For sure I will have the time to go shopping today.

PART 4: SHORT DIALOGUES

31.
(a) a bus driver
(b) a nurse
(c) a plice officer



32.

33.
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39.

40.

(d) a teacher

(a) in an airplane

(b) in a movie theater

(c) in a classroom at school
(d) in a church at night

(a) getting good grades
(b) winning the election
(c) finding a job

(d) studying overseas

(a) shopping at a furniture store
(b) cleaning out their car

(c) planning an overseas trip
(d) moving into a new home

(a) Julie

(b) Paul

(c) Julie’s dad
(d) Julie’s sister

(a) a walkman
(b) a motorcycle
(c) a camera
(daT. V.

(a) at the airport

(b) at the hotel

(c) at a travel agency
(d) on an airplane

(a) walking
(b) surfing

(c) skiing

(d) swimming

(a) He thinks the woman’s home work is all wrong.

(b) He thinks his new kitchen equipment is lousy.

(c) He thinks the woman looks too serious and has a problem.
(d) He thinks the food he was served is terrible.

(a) He’s a great cook.
(b) He can only cook one dish well.
(c) He cames from a family who can all cook well.



(d) He is a chef at a famous restaurant.
PART 5: CONTINUOUS DIALOGUE

41. What is the man’s job?
(a) policeman
(b) bank manager
(c) reporter
(d) shoe salesman
42. What is the woman’s job?
(a) hairdresser
(b) bank manager
(c) reporter
(d) shoe salesman
43. What event took place at the bank?
(a) there was an earthquake
(b) a robbery took place
(c) a bomb went off
(d) a woman was attacked
44. What time did the event take place?
(a) 9.45
(b) 10.45
(c) 11.45
(d) 12.45
45. How would you describe the woman?
(a) she wants to be a T.V. star
(b) worried about her mother
(c) silly & talkative
(d) Ms. Jane Willington
46. Why does the man refer to the woman as a witness?
(a) because she was the only one in the bank
(b) because she was the cause of the event
(c) because she didn’t care about the problem in the bank
(d) because she saw what happened
47. How many people were killed in the bank?
()0
(b) 1
()2
(d)3
48. How many people are the plice looking for?
()0
(b) 1
()2
(d)3
49. What do the police believe was the reason for the attack?



(a) to obtain money
(b) to kill the bank manager
(c) to steal the woman’s bag
(d) to make a political protest
50. What will the man probably do next?
(a) count the money at the bank
(b) find out more about what happened
(c) chase the robbers
(d) visit the woman’s mother wish her: ‘Happy Birthday’

(IR )



